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Philosophy 1102 

  

Instructor: Richard Johns 

   

Answers to Problem Set 6 
 

  

Total: 50 marks 

 

 

1.   [1 mark each] 

 

 

1. (LeftOf(a, d)  RightOf(a, d)) → Cube(a) 

2. LeftOf(a, c) → RightOf(e, a) 

3. Tet(e) → (RightOf(e, b) → FrontOf(e, b)) 
4. If d is both back of c and in the same row as b, then b is back of c. 

5. Cube(d)  (Tet(d)  Dodec(d)) 
6. a is medium, unless it’s a large cube. 

7. SameShape(d, b) → SameSize(d, b) 

8. Tet(c) → Cube(b) 
9. If both a and d are tetrahedra, then b and e are both cubes. 

10. If b and d are the same size, then b is large if and only if d is. 
 

 

 

Practice Exercise: 

 

4. 

 

 

6. 

 

 

 

9. 

 

 

 

10. 
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2. (i) They are TT equivalent, from the absence of a counter-example row.  [3 marks] 

 

  
 

 

 

 

(ii) Not TT equivalent, from counter-example rows 6 and 8. [4 marks] 
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3. (i) [5 marks] 

 

 
 

 

 

 

(ii) [5 marks]    Not TT con.  (N.B.  The row shown below is the only T || F row.) 

 

 

T B → C   
 ---- 

F (A  B) → C 
 

 

A B C B → C (A  B) → C 

T F F T F 
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4. (i) [8 marks] 
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(ii) [8 marks] 
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5. [7 marks] 

 

 

 

 

 
In your world you need: 
 
Cube(b) 
Tet(a) 
Tet(c) 
 
FrontOf(b, c) 
SameCol(b, c) 
 

(a can be anywhere) 


